a(6 @) (rad)

0 1 2
TP n (PCA to beamline

-1

a(d cot(B))

1 2 3

—— OTTOT t ravisiyeyay)

— —JX%L)-EH] e YA ZJ“}aé) 02

p—— —pIXe|CBETemplate ar S eta o]
J——i— —pIXe|CPETEemplare IRquare1r—Step2—i —€1a 0
J—— pRixelCBETemplateCutChisduar Sie efa 0
— —pixelCPETeémplatéCutChiSquare30—step2— —€ta 0

[any
<
N

-
IS
o
=
= L
>
x
o]
o L
=
©

.................................................

2
TP n (PCA to beamline)

oo p./p

10°E

107k

T2 73
TP n (PCA to beamline)

z

o(d d.) (cm)

Ratio

2 3
TP n (PCA to beamline)



	Contents
	Page 1


